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B = 3+/6 %V_(Hfmff)3fﬂfﬁfw_v—
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100+20=5....4 2 7 =
3x29=3x32=96 + £ D -

o 19973+5%1997%+6%1997
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R\ 1997753994 ? (A)200 (B)4000 (C)100 (D)2000
<fzi7>
£ x=1997
x3+5xx? XX_x X245 x(x X y
};? ;\ +5 +6 (x+5 +6) (x+2)( +3) +3 1997+3 2000 , i:t D )

x242x x(xt+2) x(xt2)

4. ot B s E ek 28 (3,0) L@ 8 4 F 2 x it A~ B>
% y 3t C~ D B|BC= - (A)2V14 (B\W14 (C)2V7 (DW7 4
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""CE=4 > R|OC=\4*-3’=\/7
¥ OB=3+4=7

< BC=| T+(T) =V36=2vTF » % A -

5. % (*-5x*+1)H(ax* +bx*+x-1)=-x*+x+c » B a-b-c= - (A)5 (B)-5 (O)4 (D)4
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X3-5x%+ 1+ax> +bx*+x-1=-x>+x+c

ax>+bx*-c=-x*+x-x>+5x%-x

ax>+bx*-c=-x>+4x*
a=-1>b=4>c=0>:F B-

6. The value after the product of (2x*-3x+a)(2x-5) , the coefficient of the x term is 19, the sum

of the coefficients of each term is .(A)2 (B)-2 (©)-3 (D)3
<jZ{7>
15+2a=19 > a=2

£ ox=1 % » (2x%-3x+2)(2x-5)
- Gdcfe=(2-342)(2-5)=-3 » % C
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10. Assuming 7 is a natural number, the maximum # value that satisfies v 73+/n<10 is
(A)725 (B)726 (C)727 (D)728

<fZ$7>

V73+V/n<10—73+/n<100 > Vn<27

. .n<27*=729

Rldex p R#cn=728F D~

11. & T 5 F > 3x-ay=4 frdx+5=20 % & R By dh b > B a= °
(A)1 (B)-1(C)2 (D)-2
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y bt gk o x A 4E=0 -
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C.0-4a=4 > a=-1>E Bo
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Sx3r+10x5r+1x(56-8r)=341
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17. 3% A=VT-V6 » B=\/6-\/5> C=V/5-2» Rl A~B~Cz ~ | M4 % o
(A)C>B>4 (B)C>A>B (C)4>B>C (D)B>C>4
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18. © wd M A ymaxtho y[clo|d|e|s]g P HP 0 HET I B

i Bk FEe0? (A)d<0  (B)e>0 (C)<0 (D)g>f

<fE$7>

(-1, 0) ¥ » y=ax+b > 0=-a+b—a=b

(0, d)#* » y=ax+b > d=b

(-3, o) » y=ax+b > c=-3a+b=-2a * (c>0)
C.a<0 0 a=b=d<0> £ A -
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y=ax+th & L E (-3, £)E(-1,00% B N @
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(B) (2,0) &% = 7T e<0 e
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19. & xX+ax+2=(x-1)*(x+b) » B ab 2_ & % - (A)-6 (B0 (C)2 (D)6
<jE$7>
£ x=1> 14+a+2=0 > a=-3>x>-3+2=(x-1)*(x+b)
£ x=0 » 842x(-3)42=1x(2+b) » h=2
Al ab=(-3)x2=-6 + i A o
200 3 - B2l B~y BEFAHE Lya~b FriE 72 gk < 2 F]
Bei 120 Blath ¥ w & f??(A)6 (B)11 (C)7 (D)10
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®72=12x6
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EF B
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21. If a=9874x9877, b=9875x9876, which of the following is correct?
<f%+47>

§ 2360 Ixd=d » & Befe B e AP S Hez ZAE ] o B fApAE

Pl a=9874x9877 » b=9875x9876 > a<b » £ B °

<¥ 2>
£ x=9875 » a=(x-1)(x+2)= x*+x-2
b=x (x+1)=x*+x » B] b>a > ® b-a=(x*+x)-(x*+x-2) =2

22. As shown in the figure, the quadrilateral ABDE is a rectangle and the
quadrilateral FCDE is a square. CD=DE=6 cm, then what is the area
of the colored triangle AGE in square centimeters? @
(A)12 (B)14 (C)16 (D)18 B¢ 6
<f345>

B C 6 D
NAFG=/\BFG(% A & %)
B AAGE=/\FBE=FEXAB+2=6x6+-2=18 » i D

e 1X2x342x4%6+3%6x9+...+2000%4000x6000 1 1 1 1

23. 3+ 3 =?7A)— B)— COC)— D)=

P77 3x4x5+6x8x10+9% 12x15+. .. +6000x8000x 10000 ( )10 ( )100 ( )1000 ( )27
<ﬁ';’v}fr>
1x2x3_ 1
3x4x5 10

IX2x342x4x6 _ 6+48 _ 6H48 1, 1
= = =— H jg=—
3x4x5+6x8x10 60+480 10(6+48) 10 10
L Dx3x(1P4234334 420008 1x2x3 1,
Jost= (33z 3)_ = iE A~
3x4x5x(1°423+33+...42000%) 3x4x5 10

24. How many zeros will appear in the product of 999...999x999...999? (¥ & 3 A i 0)
100 % 9 100 % 9

(A)97 (B)98 (C)99 (D)100
<ﬁ';’v}fr>
9%9=81—0 i# 0
99%x99=9801—1 i# 0
999%999=998001—2 i# 0

Bz —>99 i 0 :E C-o

<¥ 2>
(1Oloo—l)x(l0100—1)=102°0—2><10100+1=999. ..980000...01—200 i+ #x
99 i 9 99 0
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1) z I’q"
5 27 27 27
RS 27+(1+2)=9 27+(1+2)=9 81-9-9=63
A N EaR T 9+(1+2)=3 81-3-21=57 | 63+(1+2)=21
R N AT 81-19-7=55 57+(1+2)=19 | 21+(1+2)=7

Bk en® e =55:19:7
-’Eﬁ Fa”ﬁ 70 ~ 5 B @ ﬁ]‘"ﬁ 55x10=550 ~ » iF D o
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(NAH=c-x a b

a*-x*=h*=b*(c-x)? h
a*-x*= b*-(c*-2cx+x?)
22 b2

2+c2 b a2+c2-b? a2+c2-b? B cC H
<2>h—va - J( T

_ \/ (@to)’-b> b*-(a-c)’ _\/(a+c+b)(a+c-b)(b+a-c)(b-a+c)
2c 2c 2c
2s=a+b+c=P2s-2b=a+b+c-2b > 2s-2b=a+c-b » 2s-2a=b+c-a

11 32025202520 [
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Bkt x BT RIS F 1436 B
18(x-1)<14x+36<18x
D 18(x-1)<14x+36
18x-18<14x+36
4x<54 > x<%=22—7
@ 14x+36<18x
36<4x > 9<x
: 9<x<22—7 yx=10-~11~12~13
CHF T A F 176~ 190 ~ 204 ~ 218 1B
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